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TNPSC - GENERAL SCIENCE - IMPORTANT QUESTIONS

1. When diameter of the objective lens of a telescope increases, the resolution of the

telescope
(A) Decreases
(B) Increases
(C) Remains the same
(D) Depends on the focus length of the lens
Answer: (B) Increases
QemTmeLCHTSHEHUlleL QuITeT ellsbsmevullssr eIl L LD iHSH&GLD
Gurgl, AgTemeLGHIT&HElUTle SHlmedr Syevofl

(A) GEMDOWLD

(B) HHSIFSHGLD

(C) LOMMTE)

(D) QeveTHleor @GNl CGTemevenel CLT[HSHS LDTMILD
allemL: (B) S1H&f& LD

2. Who was produced and tested the first hydrogen bomb?
(A) Edward Teller and Stanislaw Ulam

(B) Robert Oppenheimer

(C) Fukui and Miyamoto

(D) D.A. Glaser

Answer: (A) Edward Teller and Stanislaw Ulam
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MAML JD6T Cl6LIg (G6IT6NL (LPHET (LPGEOIL 2 (HUTHE NG
Qeulg 655 Q&G HeplHHeuy wimy?

(A) TLeUJL QIL6L6V MMID eVLMeflerv&T 2 6VLD
(B) TMUJL epLILI6oTCIQMUILDI

(C) ~UGW wombd WwGmGLm

(D) D.A. &Gengly

aflemL: (A) eTLeUFL QIL6L6L] WMHMID VL MENETVET 2 6VLD
3. The Relative Humidity of the atmosphere is determined with a
(A) Hydrometer

(B) Hygrometer

(C) Hypsometer

(D) Hydrophone

Answer: (B) Hygrometer

auafloereugdlerg &My FIUUSSHSleneT &M &@meal
A) ML Gy L[y

B) mamM&GHMELLIy

(C) eMUGEMLELL Iy

(D) eumL_Grim..GuimedT

allsoL: (B) smam&GymLBLL [}
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4. Which of the allotropes of carbon has network of 20 hexagones and 12 pentagones
of Carbon Atoms?

(A) Diamond

(B) Fullerene

(C) Graphite

(D) Carbon Nano Tubes

Answer: (B) Fullerene

srjueflest e UM Geummiemo  euigeuGHHeL  SHMILGH
IWSHHEMTEL 60T 20 IIMIGCHMTHOT WOMMIDI2  PWRIGSHT 6w

EUEMEVIIEMLDE] &IT6uoTLILI(H &l60TM &)1 ?
(A) 6D6UIJLD

(B) ~.LJ6LEVITIS1 60T

(C) &ym. .emuL_

(D) &MUt BTG GLOMLLI

aflemL: (B) --L{6LEVTfl6bT

5. One among the following is not an insecticide
(A) Methoxychlor

(B) Pheromone

(C) Heptachlor

(D) Gammaxene

Answer: (B) Pheromone
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Spsramuammled g L FH&HASHTLE0 316060
A) 5SSTESSCeTI

(B) LyGLOmeoT

(€) QamuLrsGermiy

(D) G&HLOITS 6t

ellenL: (B8) LNyGLomedr

6. Paulson spends 75% of his income. His income is increased by 20% and he

increased his expenditures by 10%. Find the percentage increase in his savings.
(A) 27%
(B) 50%
(C) 30%
(D) 28%

Answer: (B) 50%

UTeL&6T leUeng eu@bLOmarsHlev 75% C&Fevey QFWH M6
6UTg| euU@GLOMEID 20% H&N&HME. SOHCUTH  Sl6ued
euengl Q&evemeu 10% AHHHSHSHHTMTET  eTerfleL  leU6TS)
GeLilULTeL rHGHment all(P&HaHTH AH&R&HMEI?

(A) 27%

(B) 50%
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(C) 30%
(D) 28%
all6mL_: (B) 50%

7. Name the disease caused due to the deficiency of Vitamin — C.
(A) Night Blindness

(B) Beriberi

(C) Scurvy

(D) Pellagra

Answer: (C) Scurvy

MEULL_LOIGH - C (GEMMUMIQEITeL gHuUBLD GBI 6T§)?
(A) LDIT6ED6LS G 6001

B) Quifl Quifl

(C) erusIje

(D) QUeLELSITT

allevL: (C) evajail

8. Which one of the following forms of protein is stored in leguminous plants?
(A) Albumin

(B) Glotelin

(C) Prolamine

(D) Globulin
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Answer: (A) Albumin

Qevgalliore GmeugmrusSeaflev GCFUISSLULUEBL LUJs 606
L6oT6u (I 6uctTeuMMIEL 6T G2

(A) Sy eoL|LDIesT

(B) &GemmGILedl60T

(C) YGrmevemLDeot

(D) @Germmyedleor

allemL: (A) o 60L|LOI6HT

9. The acidity of the rain water is measured by the scale

(A)°C

(B) dB

(C) pH

(D) cm

Answer: (C) pH

LO6OLPHBFl6T HLLSHGETMDMU HTSHSHL LIWGTUGLD H6V(E?
(A) °C

(B) dB

(C) pH

(D) cm

ellémL_: (C) pH
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10. In which organ the RBC is synthesized?

(A) Spleen

(B) Bone Marrow

(C) Liver

(D) Heart

Answer: (B) Bone Marrow

@aupmiev  Hy 2miubled Qs

2_(Ih 6T & 60T M 60T ?
(A) LD6TOT6TDITTEL
(B) 6TQUILDL| LDER6MER

(C) &6L6EVIFEL

(D) @&HUILD

aflemL: (B) 6TEILDL| LORME
11. Corpus Luteum is formed from
(A) Corona radiatia

(B) Graafian follicle

(C) Zona pellucida

(D) Primordial follicle

Answer: (B) Graafian follicle

&euli

B  QFeLS6T

@eummlev Q@HGH SHMTIUENV EVIU]igWILD 2 (HeUTHl6oTm &2
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(A) &Grmeorm GrigGuiLLm

(B) &m...Nwlest LITeOI&&l6L

(C) Gemeorm GlLELEYIFILIT

(D) (P&H6EL [Hlemev LIMedISHEH 6L
eflewL_: (B) Hym-ilwetr Lmed&Hev

12. In the following crystals which is Piezo Electric Crystal?
(A) Diamond

(B) Quartz

(C) Sodium Chloride

(D) Silicon

Answer: (B) Quartz

Explanation: Quartz Crystal, Rochelle Salt and Tourmaline are called Quartz Crystal.

SLP&ESHUL LG SRIGaTeL 618 15CET - DT eNenerney Lig&HLOMEGLD?
(A) 6D6UIJLD

(B) G6UMIL_6r

() Gemquidb @&GenmenyL

(D) HeN&SITedT

allemL_: (B) (§EUMTFL 6TV

13. The Process of improving human race genetically is called
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(A) Eugenics
(B) Euthenics
(C) Euphenics
(D) All of these

Answer: (A) Eugenics

riwed FHWTS weflg GuHmg CLLUGSHFHILD (Henm
A) WOeN&Ee

(B) W|Q&évflerv

(€) WGlusesiderv

(D) Qemer MM HHILD
allemL: (A) WG evf&erv

14. Which of the following is preferred for accelerating electrons?

(A) Betatron

(B) Cyclotron

(C) Van de Graff Generator

(D) Synchrotron

Answer: (A) Betatron

SpeauLeummieT 61§ ereusLITmaT  (WPHEH  allBFusnE
UweTu(hR &Hm &2

(A) S LmLgmest
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(B) e0&SGATML[JTeoT

(C) 6umedT 1g. &MU QesTGrLLIT
(D) &e6o1&GIITLITm6dT

eflemL: (A) L LITL[yImedT

15. Which among the following is correct?
Alloy Composition

(A) Duralumin: Al + Cu + Mg + Ag

(B) German Silver: Cu+2Zn+C

(C) Gun Metal: Cu+2Zn+Sn

(D) Solder: Pb + Al

Answer: (C) Gun Metal: Cu+2Zn+Sn

Spsmauaummled sflwmer allemL. 6gI?
2 _G6vIrs &6V6n6l @ emwiLy

(A) lguppevILhieo: Al + Cu + Mg + Ag

(B) QlgayLoeaT &eveul]: Cu+Zn+C

(C) &6oT 2_GeLuMSHLD: Cu+2Zn+Sn

(D) Solder: Pb + Al

ll6mL_: (C) &6tT 2. GeLMSLD: Cu+2Zn +Sn

16. The conductance due to ions present in one cm cube of material is known as
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(A) Partial Conductance

(B) Specific Conductance
(C) Equivalent Conductance
(D) Molar Conductance

Answer: (B) Specific Conductance

@@ s Q.15 gemeyerenr QuTeflev 2 emenr sweflseflsr &L &8
Hmenr Qeueurm| sMWLLG S ETDH G

(A) U@Hwere| sL&F Slmeor

(B) B LG Hmeor

(C) FLOM6UT SL GG SHlmeor

(D) GLomevn] SL GG Slmeor

aflemL: (B) WD &L-S& Hmeir

17. Match the following :

(a) Chloroplast 1. Hereditary Unit
(b) Gene 2. Photosynthesis
(c) Prokaryote 3. Waldeyer

(d) Chromosome 4. Bacteria

@ ([ () (d
(A1 2 4 3
B 4 3 1 2

C 2 3 4 1
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® 2 1 4 3

Answer: (D) 2 1 4 3

QUT (K5 FS :

(a) LUGMIG6E0TTNSHLD 1. UmUiiwl HevE
(b) LDITLIGTD)] 2. 6M&CHFTHNG
(c) yGomGaHlumL 3. eumeLGL Wy

(d) @CrmGrGamd 4 urslelwim

(@ (b) () (d)
A1 2 4 3
B 4 3 1 2
© 2 3 4 1

D) 2 1 4 3

elemL: D) 2 1 4 3

18. Complete the given equation of oxidation of glucose.

CsH,O6 + 60, >

(A) 3CO; + 2H,0 + Kcal
(B) 3CO; + 6H,0 + Kcal
(C) 6CO;, + 6H,0 + Kcal
(D) 6CO; + 2H,0 + Kcal

Answer: (C) 6CO, + 6H,0 + Kcal
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&Cp Qar@ssuuL@erer GEHSHECHETOV U HHRCATHMLD
FLOGTUMTL Iq.6060 L THH Q&FUIS.

(A) 3CO; + 2H,0 + Kcal

(B) 3CO, + 6H,0 + Kcal

(C) 6CO; + 6H,0 + Kcal

(D) 6CO; + 2H,0 + Kcal

ellemL_: (C) 6CO, + 6H,0 + Kcal

19. The Plastic household crockery is prepared by using

(A) Melamine and Tetrafluoroethane

(B) Malonic acid and hexamethyleneamine

(C) Melamine and Vinylacetate

(D) Melamine and formaldehyde

Answer: (D) Melamine and formaldehyde

el 2 LIGWIN& & &M &6t Hermervig. & QI (IHL_& 61T
@eumnMed BB &WrHlésLu® SHl6rmg)?

(A) GevemLoest LOMMILD QL LgryGCetmGym &G 6ot

(B) GeumesNld oiflevld WHMID Cam&erv&mClg SlevLhleor

(C) GevenLnedt LOMMILD elenesred SHAGCL L

(D) GLDELEMLD6ET LOMMILD LIMILOMELIG6maM(H

aflenL: (D) GLOELEMLOGH LOMMILD LITFLOMTELIq emam (b
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20. The Hardness of water is estimated by using
(A) Chelating Agent
(B) Oxidising Agent
(C) Reducing Agent
(D) Neutralising Agent
Answer: (A) Chelating Agent
SHEVOTETOITI6L 2 61T6N  BHlg6uTsH Ferenwenwl erell.  UweTUELD

&Iy 6uoil

(A) QBTHSEHENEUUILIL] SiT6uo

(B) &HERCDOD Siyeul

©) @56 sl

(D) B(RHemeLWITHGLD Sy6uuN

allemL: (A) Q&T(H&Hlen6uorLiL &iy6vofl

21. Match the following :

(a) Neomycin 1. Streptomyces fradiae
(b) Terramycin 2. Penicillium notatum
(c) Viridin 3. Streptomyces rimosus
(d) Penicillin 4. Gliocladium virens

@ (b () (@
A 3 1 4 2

B 3 4 1 2
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C 1 3 4 2
O 4 1 2 3

Answer: (C) 1 3 4 2

QUT K5 FHS :

UL IQUI6D» - 1 UL IQUI6D - 2
(a) GWImemLO&60T 1. oL QuGLmemw&erv ..LygGul
(b) QL_[JTemLO &l60T 2. QuenHedwid QpTGLL LD
(c) exifliq 601 3. VL QpUGL memL&erv fGomgery
(d) QuesN&edl6ar 4. enGUITECGeniquild eNiFesrery

@ ) (© (@
A 3 1 4 2
B 3 4 1 2
C© 1 3 4 2
D) 4 1 2 3
Answer: (C) 1 3 4 2
22. The Ground State Energy of the electron in the Hydrogen atom is
(A) -13.6 eV
(B) -3.41 eV
(C) +13.6 eV
(D) -10.5 eV

Answer: (A) -13.6 eV

15 | www.winmeen.com | Paid Copy — Don’t Share With Anyone




Winmeen VAO Mission 1001|2018

AL IR iggniailelener erev&LFmeafledl HmILL. 3 MHMmedl6H
LOGILIL]

(A) -13.6 eV

(B) -3.41 eV

(C) +13.6 eV

(D) -10.5 eV

allemL: (A)-13.6 eV

23. Which of the following instruments has lowest resistance?
(A) Moving Coil Galvanometer

(B) 0 — 1 A Ammeter

(C) 0 - 10 A Ammeter

(D) Voltmeter

Answer: (C) 0—10 A Ammeter

Explanation: V=IR (OHM’s Law); R=V/l; Ra1/l V-Voltage, R-Resistance, I-Current
HeiTeu(HLD FMHETMHISM6L cpetTMI6H WIhHGHmL LOI&HS (GHMmey

A) QUWIRIG &(HeT SmeLeUsHTTLL L [T

(B) 0 - 1 A QDLBLLI

(C) 0 - 10 A SIDLSLLI

(D) GeumeLL_LBL_ LIy

eflemL: (C) 0 - 10 A QDLBLLIJ
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24. The Quantum energy in a lattice with elastic wave is called

(A) Photon

(B) Phonon

(C) Electron

(D) Proton

Answer: (B) Phonon

B8 siemevwyeiTem ep(h 316M&HCHTemeUUT6I (H6UMETITLLD I MM6L

eTeuTILBILD.

(A) GUITL_L_Tedr

(B) GUIT6OTIT60T

(C) 6T6L&L_IJIT6DT

(D) YGrmLL_medt
ell6mL_: (B) GLIT6OTIT 60T

25. Hybrid vigour is due to
(A) Homozygosity

(B) Heterozygosity

(C) Linkage

(D) Mutation

Answer: (B) Heterozygosity

seoliflenr efflwid @gearmed gHuGHMSE)
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(A)

(B)

(C)

(D)

@&SLUTLDISH&HaT6T Een6ue)
epalQITLITEL IS &aTl6n @emeuoe)
LITeL 0| &6ril6sT @\6emetute]

LOJLIGD)| LOMMHMLD

aflenL: (B) epeUeUTLITeLEI) 55660 @)6m6uorey

26. The Concept which states that “An acid is a substance which can accept electrons”

(A) Arrhenius Concept

(B) Lowry and Bronsted Concept

(C) Lewis Concept

(D) Lux — Flood Concept

Answer: (C) Lewis Concept

@ Slblevid eTTLLB UG 6TEOSLIMITSHMET M &algll (b

GEJLOD 6Te0IS FoMieus)?

(A)

(B)

(C)

(D)

sifafsilwey QsmeTems
Qeverfl WOMID LUFTeTa V6L L C&TeTemns
ey C&meTemns

LEHEMN - LIeML. Q&merTemnd

eflemL: (C) suruilerv Q& meTemS
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27. Carborundum is
(A) Boron Carbide
(B) Calcium Carbide
(C) Tungsten Carbide
(D) Silicon Carbide

Answer: (D) Silicon Carbide
SMJGLTEOITL LD 6T60TLIG)

(A) Gumymest SmyemU(y

(B) &SMLAIID SMIemU(h

(C) LMlervL_6dr

(D) HleNsmeoT SMenLI®

ellemL: (D) Hevlsmer HTyenLU(H

28. ldentify the most suitable biofertilizer for casuarina cultivation

(A) Rhizobium

(B) Frankia

(C) Azolla

(D) Azospirillum

Answer: (B) Frankia

SP&EILeUMMIET &6y&H@G OJ euenjuUsH@ FHlwmer Hicvoranuily

2 JID 6Tg)?
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(A) JGEMIWILD

(B) LNFMRIGWIT

(C) IGFmeLIT

(D) HGEFMEVEMLI(THEVEVLD
allewL_: (B) LNymrilwim

29. Colostrum is rich in which class of these antibodies?

(A) IgA

(B) IgE

(C) IgG

(D) IgM

Answer: (A) IgA

FLoLmedleL 6THG UM S eTHFQUIT(HL_& 61T 3IHHLOMS

&T6uoTLILI (b 1601 &)1 ?
(A) IgA

(B) IgE

(C) 1gG

(D) IgM

allémL: (A) IgA

30. Answer:Match the following :
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(a) Urea 1. [Ca(NOs3), . NH4NO3]
(b) CAN 2. (NH,),CO
(c) Calcium Cyanamide 3. 3CaH4(POy)
(d) Triple Super Phosphate 4. CaNCN
@ () (© (@
A 2 1 4 3
B 4 3 2 1
C 3 4 1 2
)1 4 3 2

Answer: (A) 2 1 4 3

QuUT (55 &l 5:

() Wyl 1. [Ca(NO3), . NHsNO3]
(b) CAN 2. (NH,),CO

(c) HMeLEIWILD FwlestenLo(h 3. 3CaH4(P0.,),

(d) (PLemLD UL UmervGLUL 4. CaNCN

@ () () (d)
A2 1 4 3
B 4 3 2 1
©3 4 1 2

O 1 4 3 2

elémL:(A) 2 1 4 3
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31. Which of the following is not seen in the Protoplasm?

(A) Cell Wall

(B) Nucleus

(C) Endoplasmic Reticulum

(D) Golgi bodies

Answer: (A) Cell Wall
Slpeu@meucTeumieT  erg)
@ 6L6mev?

(A) GIF6L &6

(B) HulsHefwierv

(C) 6T6UOIGL_ITLIGNITErY 616016V

(D) GaMeLE 2 MILIL|G6N

allewL: (A) Q&6L Greuly

HCpmLGLmilernesdHlev  SHmeuorLIg)

32. Which one of the respiratory process is otherwise called as “amphipholic cycle”?

(A) Glycolysis

(B) Kreb’s Cycle

(C) Phosphorylation

(D) Pentose phosphate pathway

Answer: Kreb’s Cycle
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dhS &GUTHHHL HHPH “g-.NCUTE0SH &LPMHE” 6TTELD
ML &HSLLG S &) ?

(A) HenaTHGCHITmEVFerv

(B) &pLerv &M

(C) UmeroUIfl&IJ6uoILD

(D) QueTGLmerv UMeVGUL QILNIGHL LD
aflemL_: (B) &yLiev &LPmE

33. What is the Body Mass Index (BMI) of a normal adult?
(A) 2529

(B) 30 — 40

(C) 19— 25

(D) 14 - 22

Answer: (C) 19 - 25

Guilweujsefler 2 L6v HlewM ETEY (BMI) 6UHFWIEDM) 6TEU6EUET6Y?

(A) 25 - 29
(B) 30 - 40
(C) 19 - 25
(D) 14 - 22

ellémL: (C)19-25
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34. Neurofibromatasis (NF) is disorder associated with skin and muscles. It is due to the

suppressor gene on
(A) Chromosome — 21
(B) Chromosome — 17
(C) X — Chromosome
(D) Chromosome — 7

Answer: (B) Chromosome — 17
HCrm-.yCrewLLr&fey ereim Gmouur@h GCHmTeL LMHMIWD

smesafled sT&E6EHME gOHUGSHFHIL - QS SOOUTE 6THS
GCrmGnGemd Fearsaflev gHUBL @BSHE (LEOMWIT(GLD?

A) &GImGLMGEMD - 21
B) G&GITGCLIGEMD - 17
C) X - &GImGLIGHMD
D) GCITCLIGEMD - 7
ellemL: (B) (HCImGLOMGEMD - 17

35. is the most essential component thyroid hormone.

(A) Sodium
(B) lodine
(C) Potassium
(D) Calcium

Answer: (B) lodine
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Qg masImuG aorTjCLmar 2 (HauTsEeEHHlL (P&HSHIW  UnKIG
U & Hl6TM G2

(A) G&mgq UL

(B) IGumiq 60T

(C) QurL_Lm&wibd

(D) STELFLILD

ellenL: (B) IGWImig 60T

36. Parthenogenesis is

(A) Development of fruit without hormone.

(B) Development of fruit with fertilization

(C) Development of egg without fertilization

(D) Development of embryo without fertilization

Answer: (C) Development of egg without fertilization

‘86016071 @ GUTLICILI(H & SHLD’ 6T6OTMIT6L 6T 60T60T?
(A) amrIGLOMeT SIMHM LD eleTj&é

(B) devalliMmm LD eleTj&é

(C) &eve MM &(H(LLL ML eUeTTFH

(D) &eve MM &, eUeTJ&FE

allemL: (C) HevalllMmm &(H(LPL ML ueTj&FS
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37. Which of the following statement is wrong?
(A) The colourless plastids are leucoplasts

(B) Amyloplasts are examples for colourless plastids
(C) Chloroplasts are green coloured plastids

(D) Aleurolasts are starch storing plastids.

Answer: (D) Aleurolasts are starch storing plastids.

&G QamhR&sUUL (heTen Fammiseafled Heummerg) 6rg)?

(A) WL &GaMTLeTTEVL (B&6ET 6T60TLIemeN HMOMM &6mNShISETT(ELD

(B) SienLnGlevmLiammerol (h&e  6T6TLEneY  HMWLMM  SH6WNSMISE55S
6105 SHISHTL (HSHEMMGSLD.

(C) &GenmGrmLeTmey (b &6t 6T60TLI6M6)! LFeng BimLomest
LiemmeroL_lg L &elT

(D) SOWICHmUeTTer V(&6 6TeoTLemed VL MIEHemerT  GEFLOIGGLD
LISMTerVL_Lg L &6NIT(&LD

eflemL: (D) AONLIGHTLMTOV(HGET 6TETLEMEU VL ITE &6t 60T
CELHI&GLD LeMmTavL gL &6 (GLD

38. The Sea floor spreading theory is proposed by

(A) W.J. Morgan (1967)

(B) Hary Hess (1961)

(C) Weganer (1912)
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(D) T.C. Chamberlin (1961)

Answer: (B) Hary Hess (1961)

‘SL6V GO LJeUsL CHTLUML 6L’ 2 (HeuTSHSHlweu?
(A) LiNemyy €. GLOM&60T (1967)

(B) eammifl Qamery (1961)

(C) Qleu&e6rrmy (1912)

(D) 1g.&. GFLbuyelest (1961)
ellemL: (B) ammifl Qemerv (1961)
39. Dimension of momentum are

(A) ML?T

(B) MLT*

(C) ML?T?

(D) ML?T?

Answer: (B) MLT™

2 [hH&& G607 LIFILOIT 60Tl & 61T IT 6L 60T
(A) ML?T

(B) MLT*

(C) ML?T?

(D) ML?T?

eflemL: (B) MLT*
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40. Technique used in mass production of integrated chips is
(A) Photography

(B) Atomic Force Microscopy

(C) Photo Lithography

(D) Holography

Answer: (C) Photo Lithography

6 (IH IS 606001 & S LILIL_L FLgemer 35S Slemailsv
QewwLUBGUSDHSTS 6THh& QG mLHIELHL_LILD
LweTuGSSULGHMGI?

A) ~GumLGLr&gms

(B) slgmialleng sCITarvGaTL

(C) GUTLGLT e9&CHTENT. LT

(D) CammGeom&lym

ellemL: (C) GUTLGCLT e0§CHTH . LN

41. A Satellite is orbiting the earth, if its distance from the earth is increased, then
(a) Its angular velocity would increase

(b) Its linear velocity would increase

(c) Its angular velocity would decrease

(d) Its time period would increase

(A) (a) and (b) are correct

(B) (a) and (c) are correct
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(C) (b) and (c) are correct
(D) (c) and (d) are correct

Answer: (D) (c) and (d) are correct

@ QEFWMHM&HSHCoHITET yulemws  &mm QUH ST G).

HelluNedl(ph g 315 60T &DMLIT 60 & uil6or Qg Tem6eLEY

&SRS LILLLTED,

(@) QG601 CaMemg Heng Ceusld HHHNEHS Fa(HLD

(b) SG6T CHICHETL(HE Heng Ceusild &SNESS Fa(hLD
(c) SIG6T CaMeng Hengd Cousld GenMmISHFe (HLD

(d) SIGET SOMIUUTMSGMU 6(h (PemD)  &FMOM  UHLD

31551555 Fa(HLD

(A) (a) LOMHMID (b) FHlLITETTENE

(B) (a) LOMMILD (c) &FFlulmeaTemI6EY

(C) (b) LDOMILD (c) EHlWLITETTEME

(D) (c) LOMMILD (d) FHlLITETTENE

aflemL: (D) (c) LOMHMILD (d) FHWTeTEm6U

42. Find out the incorrect statement(s) :
l. Magnesium can reduce oxides of Aluminium, Zinc, Iron and Copper
. Copper cannot reduce the oxides of Iron and Zinc

1. Zinc can reduce the oxide of Mg

SITELLD
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IV.  Aluminium can reduce the oxide of Mg
(A) land 11

(B) lll and IV

(C) I alone

(D) 1V alone

Answer: (B) Il and IV

SUMTET CQEFMMHOMTLISHMETS &IT6H05:

. s, ARG, Q@Y WOMID STUHUT S (HaHemern
QAL HESD QFLISMNGI

Il @\(LDL LOMHMILD G 3,560 (H &H6mer SITULIY
(15 & 6USH6LEMEV

. sieyiilesiiid MHMID  Q&fAISS6T Y &ensHEHmen ks
RlCLIGLA I

Iv.  Q&aTHILS ST g &engenl. siaviblaNib ¢hsGHMS)

(A) | LDOMILD 1
(B) Il LDOMID IV
(C) Il L (LD
(D) IV L (LD

eflemL: (B) Il LOMMILD IV

43. The Blue colour in Borax Bead Test is due to the presence of
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(A) Iron

(B) Nickel

(C) Cobalt

(D) Zinc

Answer: (C) Cobalt

Gurgmserownenfl gyuiallsd Beo HM&Hms QASTHSHGLW HevfloLd
(A) 61

(B) H&GH6L

() G&mUmeLL

(D) HmIS

allémL: (C) GamumeLL

44. Choose the incorrect match :

(A) Baking soda — Sodium Hydrogen Carbonate
(B) Washing Soda — Sodium Carbonate

(C) Bleaching Powder — Calcium Oxychloride
(D) Limestone — Calcium Sulphate

Answer: (D) Limestone — Calcium Sulphate
Geaupmer QUT(HSH5HSH CHI6 CFIIS:
(A) FemouwleL GEFMLT - GEFMQUILD MHOUML [JE6T SHITITLIEHETOTL

(B) &evemed GEFMLT - GEMQUILD SMUGeoTL
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(C) Naf&fm G - HTOLHAUWILD Y &HHGCeTeny(h

(D) &6UOI6OTTLDLSHSH6V - STLHIID FeoGLIL

adl6v)L_: (D) Gr6BOTGUIITLOL|SH &6V - HTLFIWILD F6LGLIL

45. Which one of these are called polymorphonuclear leucocytes?

(A) T. Lymphocytes
(B) Neutrophils
(C) B. Lymphocytes
(D) Monocytes

Answer: (B) Neutrophils
@eummMlev 61§ umeSlmFGUIT

6T 6orL1L1 (i &) 60T ) 60T ?

(A) T. GUTEMEFL 6
(B) HuL_Grmilevery
(C) B. edLDGUTEMEFL_ 610
(D) GLTGeTTENFL_ M

ellemL: (B) HwL_GrmLilevéerv

BwysHeflwy  eSluy CaHITen &L &6l

46. The Biogenesis of 80 S Ribosomes takes place in

(A) Nucleus
(B) Nucleolus

(C) Golgi Complex
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(D) Endoplasmic Reticulum

Answer: (B) Nucleolus

80 S MFGUITGCEMO&ET 2 MHUSHWTGLD @)L LD
(A) By S&Hefliery

(B) By &HeMNGimeverv

(C) GCameuGs Fal (BMILIL

(D) eéT6voTGLITLNeMmervLhld 6606V

aflemL: (B) A, &HeflGwimevery

47. A Sample of 100 Persons, 84 were Phenyl thicarbamide tasters (T). Calculate the
gene frequency of non-tasters (t)

(A) 0.6

(B) 0.4

(C)0.2

(D) 0.8

Answer: (B) 0.4

100 HUTSH6T Qamevor. T Hfluiled ~LlementeL HGwmsTHUHLLOEH (T)

Geneu 2 eurfGeun(® 84 GUIJ 6TETMITEL, &6M6U 2 650TIT & 6ulj & 6rfleor

oBeor H&HLPC6U6ETI (1) Ullem6S &6vo1SH SH(h 5

(A) 0.6

(B) 0.4

(C) 0.2
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(D) 0.8

ellemL_: (B) 0.4

48. Transposons were originally discovered from which of the following

(A) Maize

(B) Human

(C) Fruit — Fly — Drosophila

(D) Bacterium

Answer: (A) Maize

Sl ST eummleL IgpTeTeroCUITET6T (PGEOIL eTHafled @hiHg)

&evor(FLllg &SHLILILL G)?

(A) D&STFCEFTETLD

(B) LDEDTIG 60T

(C) U - IF - 19GgmGeromiileom

(D) UmSlerlwim

allenL: (A) LD&STECHFTATLD

49. The Hormone Responsible for the process of Parturition

(A) Thyroxine

(B) Oxytocin

(C) Secretin

(D) Vasopressin
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Answer: (B) Oxytocin

L&UGUM MH&LpEFHmW allmpeyuubGH D amTIGLOM6T 6T8)?
(A) DGITTSHEF6T

(B) S&HEICLm&6or

(C) Q&SIT 1q.601

(D) eUmGEmLIy&leor

allemL: (B) 94,5HCL & 60T

50. How many antinodes must be there between two nodes?

(A1

(B) 2

(C)3

(D)4

Answer: (A) 1

A\ yevor(h &600)| 5 5 (@h & Slen LGl 6T & 8 60) 60T 61 5] & 50)| & & 61T
B\(H5(GLD?

(A) 1

(B)2

(C)3

(D)4

allémL: (A)1
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51. A Copper wire has a resistance R. On doubling its length, specific resistance will

(A) Be halved

(B) Be doubled

(C) Become four times

(D) Remain the same

Answer: (D) Remain the same

@@ &Mlgs sollullsor WargemL R, uGH6r Herb Q(m

L MKISTHSULGLGCUTS 1GH60T LOI6HT &L 6T6uor
(A) UTH SIGLD

(B) @(H L MISTGLD

(C) IHT60TE LOL RISTGLD

(D) LDMMILIL &)

aflenL: (D) LOMTMILLTE)

52. Why Tungsten is used in Bulbs?
(A) Natural Source of Light

(B) Easy to Bend

(C) Melting Point is high

(D) It absorbs Heat

Answer: (C) Melting Point is high

G allesGsafley LiiavLem g6 Lwearu®hHSuUUBEHme)?

36 | www.winmeen.com | Paid Copy — Don’t Share With Anyone




Winmeen VAO Mission 1001|2018

(A) QUDEMS el VLD

(B) 6T6NMGIEL 6UMENTSHS (LPIg LD

(C) 2(HB& Hemev YH&LD

D) Q& CaulILGmE 2 MIEh&LD &6OTEOLDU|ML LIS
ellémL: (C) 2 (h@ Hlemev HHHLD

53. Colours of thin film is because of the phenomena of
(A) Diffraction of Light

(B) Refraction of Light

(C) Interference of Light

(D) Polarisation of Light

Answer: (C) Interference of Light
Freu Qe ULeHHlev CHTATMILD HMHISEHSHTE g LILIML &

&IT[J6TOTLD

A) epel el ellenerney

(B) 26l QI6LEHEL

C) @efl GMISSL(h ellenerey

(D) e@al Herm elenene

aflemL: (C) spefl GMISGEL (B allemeney

54. Which of the following is / are correct?
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I. Conjugate acid of NH3 is NH",

[1. Conjugate base of HN3is N3

[11. HCO'; can act both Bronsted acid and Bronsted base
(A) land 11

(B) I and III

(C) Iand 111

(D) I, and 1

Answer: (C) I and I

LeoTeu(heucmeuMMI6T SFHWIMES) TGl / eTemeu?
l. NH; uilesr Qemesr LOHIGLLD NH>
Il. HN; UJl6sT Q60631 SHMJLD N3

. HCO3 LpmeoTervl L. leom&eld LNpmeTavL L. SMJLOM&6LD

QEwevLI(hLD

(A) | LDOMILD 1
(B) Il LDOMILD 1l
(C) | LbMMILD 1l
(D) 1, Il LDMMILD 11l

eflemL: (C) | LoHMILD 1l

55. Match the following :

Compounds Oxidization Number
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(a) Cr O, Cl, 147
(b) Mn O; CI 2.+2
(c) N H, OH 3.1
(d) OF, 4.+6

@ () () ()
A 4 1 2 3
B 4 1 3 2
©1 3 2 4
D)2 4 1 3

Answer: (B) 4 1 3 2

QuUT (55 &l 5:

CEIJLOMIS 6T S SHEFRCEMDHM 6T 6voT
(@) Cr O, Cl, 1.+7

(b) Mn O; CI 2. 42

(c) N H, OH 3.-1

(d)OF 4.+6

(@ () () (d)
A 4 1 2 3
B 4 1 3 2
©1 3 2 4

D) 2 4 1 3

edlémL: B) 4 1 3 2
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56. KCIO3, Being an Oxidising Agent, during reaction, Converts to KCI, where the

oxidization number of ‘CI’ decreases from to

(A)+3to—1

(B) +5t0—1

(C)+1to—1

(D) +4to—1

Answer: (B) +5to—1

SHHRCAHD (P&HUJTET KCIO; Geudluiev ellemen LOTMHMS S eor
Gumg KCl g8 allGHarmg. Sdev  cr  swefluile
A5ARQCarmMiuilesr Hemevo _ ullediphy 3
GSODHMS).

(A) +3UNeNI(BHG - 1
(B) + 5 uNEON(HH& — 1
(C) + 1 uNeON(HH&I - 1
(D) + 4 UNN(BHG - 1
eflenL: (B) + 5 uNleOI(HIH &I - 1

57. Consider the following statement and choose the correct combination :
(0 Mycorrhizae help in phosphorus mobilization

(i)  All the plants are associated with Mycorrhizae

(A) (i) is correct and (ii) is wrong

(B) (i) is wrong and (ii) is correct

40 | www.winmeen.com | Paid Copy — Don’t Share With Anyone




Winmeen VAO Mission 1001|2018

(C) both (i) and (ii) are wrong
(D) both (i) and (ii) are correct

Answer: (A) (i) is correct and (ii) is wrong

SLD & 6voTL QUIT& S ILIMIS 60 61T & 6160 LOMHMILD &l eor

AQWNG5550 CHOHASE0:

. ureougeny  SreUJhSEhEHE HLSS  ODSECHTENTFTSHS6
2 56|S6TmS)

Il 6TV GMeUghIGailer Geaujsened  mMWECHTMIFT ol (b
QUMDEHMS BHL &GS 6TME).

A () &6 (i) Heum

(B) () HUMI (i) &Ifl

(©) () LOHMILD (i) Heum

(D) (i) LOMMID (i) &If]

aflemL: (A) (i) &l (i) Heum

58. Match the following :

(a) Robert Hooke 1. RBC and Yeast Cell
(b) Robert Brown 2. Cell Theory

(c) Leeuwenhoek 3. Discovery of Cell

(d) Schleiden 4. Discovery of Nucleus

@ () (© (@
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A 1 2 3 4

B 3 4 1 2

IS
[EEN

C) 2 3

N
[EEN

(D) 3 4
Answer: (B) 3 4 1 2
QuUT (55 & 5:
(a) OTUL em9& 1. Qr$s SeuliLgmissen LHMID ujervol CFed
(b) grUfL geyest 2. QFeL Huwfl
(c) eVeUTOT DS 3. g0 (QF6L) &6vor(hLTig.LiL
(d) ervu&leL 6ot 4. 2 L& (Huseflwlerv) sesor(hLlig LI
@ @ () (@@
A 1 2 3 4
B 3 4 1 2

C 2 3 4 1

D) 3 4 2 1

edléwL: B) 3 4 1 2
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